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Multiply Decimals

Find 3.72 x 2.4.

Step 1: Estimate first.

372 —— 4
X24 —> X2

8

Step 2: Think of the decimals
as whole numbers.

372
X 24

Step 3: Multiply the ones.

372
X 24

1488

Step 4: Multiply the tens.
372
X 24

1488
+ 744

Step 5: Add the partial sums.
372
X 24
1488
+ 744
8928

Step 6: Use Step 1 to place
the decimal point.

3.72 X 2.4 = 8.928

There are 2 decimal places in
3.72, and there is 1 decimal
place in 2.4. So, there will be
3 decimal places in the product.

Find each product. Estimate first to help you place the decimal point.

1. 47 X6 2. $0.59 x 35 3. 45X 76 4. 6.3 X 85
5. $7.66 X 9 6. $6.49 X 3 7. 415 X 62 8. $8.44 x 21
9. 52 X479 10. 3.14 X 19 11. 9.18 X 4.32 12. 67.5 X 32.9
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Problem

Multiply Decimals

Use the data to solve Problems 1-5.

Solving
7.2

Human Growth Facts
* Hair grows an average of about 0.5 inches a month.

* Fingernails grow about 0.12 inches a month.

* Toenails grow about 0.04 inches a month.

1. About how much will human hair grow
in 5.5 months?

Show Your Work

2. Chi Chen says that fingernails grow about
three times faster than toenails. Is Chi
Chen'’s statement accurate? Explain.

3. Do fingernails grow more than 1.5 inches
in a year? Explain.

4. Marcia wants to know how much hair
grows in three years. Here are her

calculations: 12 36
X3 X 0.5
36 180

She concludes that hair grows about
180 inches. Why is her answer incorrect?
What is the correct answer?

5. How much more do fingernails grow than
toenails in 3.25 months? Explain how you
arrived at your answer.
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